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Question: 1 
   
Does the codec need to complete the following () functions? (Multiple choice) 
 
A. Decoding the data reported on the southbound device 
B. Decoding the response of the southbound device to the command issued by the platform 
C. Code the command issued by the platform 
D. Coding platform response to reported data 
 

Answer: A, B, C, D     
 

Question: 2 
   
Among the following options, what is not a key technical feature of NB-loT is ()? 
 
A. Wide coverage 
B. Low power consumption 
C. Low cost 
D. High broadband . 
E. Large connection 
 

Answer: D     
 

Question: 3 
   
The maximum coupling line loss (MCL) for NB-loT is ()Db? 
 
A. 144 
B. 154 
C. 164 . 
D. 174 
 

Answer: C     
 

Question: 4 
   
The third-party platform specifies the device ld AES encryption parameters in the OceanConnect 



platform settings, and the subsequent communication between the OceanConnect platform and the 
onboard device needs to be encrypted by AES. 
 
A. Correct 
B. Error 
 

Answer: A     
 

Question: 5 
   
The first step in oceanConnect's business process is ()? 
 
A. Southbound message escalation process 
B. Business provisioning process 
C. Northbound Registration Process 
D. Southbound registration process 
 

Answer: C     
 


